2D Examples |

Eliminate the parameters
1.x=ty=2-t?
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Step 2: Plot points. 2. x = 3cos(4t),y = 4sin(4t)
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Step 1: Find surface/path of motion.
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3D Example
x =t,y = cos(2t),z = sin(2t)
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Example: All pts given by the

Now plot points!

equations + - v A
x=1t,y=cos(2t) ,z= sih(Zt) o o \
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Another 3D Examples
x =tcos(t),y =tsin(t),z=t
0 = K= RS (2)

o INTESECT or
OF THEIEC QY Lindbal

t=72
j = Ll (2:3
* e~
cosl® = z y a2y = P4
(Oo;(EBSL -t (_g;-q_ (;?S"::] (éLWA-Y'.SB
TSN
> ('E + ( 2 ) l -
:‘-D Kl e Foe " Q.,: Zﬁuﬂ
A %:‘ - = 1ﬁx Lj
Cone ! SURFACE Ol = aTea)




Example: All pts given by the Now plot points!

equations + * |4 =
x =tcos(t),y =tsin(t),z=1t o o 5 s O
are on the cone z%? = x? + y2. 7 O [ % A
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Intersection issues
For all intersection questions,
combine the conditions

(a) Intersecting a curve and surface.
Combine conditions
Example:
Find all intersections of
x=ty=cos(mt),z=-sin(mt)
with the surface
x% — y% —z%=3.
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(b) Intersecting two curves. B L= x ;-—- w-2
Use two different parameters!!! B St=H = 5&> t=
Combine conditions. o o - —,:: _?:_ ey umt?
We say the objects collide if the
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(c) Intersecting two surfaces. Examples

Answer will be a 3D curve. 1. Find any parametric equations that
To parameterize the curve: describe the curve of intersection of
Let one variable be t. Solve z=2x+y?% and z =2y
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for others in terms of t.
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2. Find any parametric equations that 3. Find any parametric equations that

descrlbe the curve of intersection of describe the curves of intersection of

x? ty’=1and z=5-x x? +y?+ 7% =1andz? = x2 + y?
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